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INSTRUCTIONS TO CANDIDATES

Yo showld have the following for this examination:
Answer boaklet:
Non programmable seientific caloulator.
Answer FIVE of the ENGHT questions in the answer bookler provided.
All questions carry egial marks.
Mercimum marks Jor each part of a q'ﬁmrf.:m are indicated.
Candidates should answer the questions in English.

This paper consists of 4 printed pages.

Candidates should check the question paper to ascertain that all
the pages are printed as Iindicated and that no questions are missing.
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(17 /fia)  Explain the following terms a5 used in management: taibide \
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(b} (\Expl:un fioun features of land a5 4 fmmrﬂf : " e (8 marks)
(&)  Outline three characteristics of cach u:nf'ﬂmﬁ:nihﬁﬁﬂg types of production:
Picdidha PV LERE R r,—..-i.*:l'fri
i b productiony Pl L e T el WFIRT TaD I OIAL
I::} ]D E _‘i?|‘| =|.-||"'|“'I e els s s T 1'|-\-~.|

cals ond Sfors a
(i) I:r::Li:J::I.'nmdm..mn, Mg il Yakz =t kaggr N6 mars)

C LR i (R

o y Fat A ‘|'..|"l|;_-|_j_.r5| W oA e - b= T
251 {a) (1) b;.?iam e term mzmﬂ.gamr.&]thy ni:r_mn..,:umi!‘yfﬂl:}} AT AR e

LaTrT T RS
L = T B e £y |""-'r""-". L P 4 -I'. .
(i) Bml'ne five I::rmm:r.mnft of man::g{!nmt b}' ua:rje-:mw-: {7 marks)

{t}  Outline five roles of the Public Procurement and Disposal Act in‘an organization.
A5 marks)

- T

(€} ‘Explam four factors that determine the efficiency of labour in an organization.

(8 marks)
@:. EY (i) Explain the term 'delegation” a5 used in management.
1,6
()  Outline four reasons which make delegation of tasks necessary inan
orgamizaion. (6 marks)

i) Explain four ways mawhich managers may apply the Herzberg s two Factor theory
to improve performance of employees in-an organization. {8 murks)

{c) (1) Accompany uses 60,000 units of & matenial per anamm which cost Sh. 1500
each. The ordering and handiing costs are Sh 19,000 per order 2nd
carying costs of 15% per annum. Caleulzte the economic order quantity.

(i1} Cutline three factors that determine the re-order level of stock in an
OrpEmzation. h marks)

4__. {a} Instinguish between Gross National Product and Gross Domestic Product, (4 marks)

({3} {1} With the aid of a diagram, cxplain the term ‘break even point’,

{u}  Cutline four assumptions of break ¢ven analysis. i {8 marks)
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() Explam the following tcrms as used in production:
{1) production control;
{1i) follow ep:
(i} produchon schedule:
{iv} pru-mtj.-'pf:._ {8 marks)

g (a1} féutliu-: four features of open office ia}autﬁ {4 marks)

(h) (L) Explain the term ‘method smdy”
{11}  Outline foar objectives of method stody, {6 mardcs)

(c) Explain five reasons that may make it necessary for an organization (o recnit staff.

{ 10) marks)

. ta} Outline four advantages of using computers in an office. {4 marks)
(b)  Explain four external sonrces of labour available 1o an organization during

TecTuitment. . (8 marks}

c) (i) Waza Lid, mapufactures pipes and applies manufacturing costs to production
at a budgzeted indirect cost rate of Sh 12 per direct labour. The following
data relates to the compdny as at June 2018:

Shs
Direct materials 300 000
Direct laboor {BINN) howrs) 154 000
Indirgct labour 21 000
Plant fa::iii]l::.r (rent) 10,000
Depreciation on plant, machinery and equipment 20,000
Other indirect manufactunng costs 22 000
Sales commiIssions S0.000
Administralive cipenses 0,00

Caleniate the:

(I}  amount of manufacturing overhead costs incurred in June 2018;
(I}  amount of manufacturing overhead allocated o all the jobs in Jupe

2018.
{iiy  Explain two guidelines that may be followed when determining the cost of a
project, {8 marks)
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=)
6/ (12} Onitline four differcnces between preventive and breskdown types of mainicnance,
' {8 marks)

& ) Table | shows time in mimutes for a job element for which the analyst gave a
performance rating of 1105

Table 1

Observation (o} | 1 i 3 4 5 f y 8 [
Tume inminutes { 110 | T32 ] 115 | 04 | LIS 6] 104 | 1.4 | 1.17

Calculste the standard time for this operation given:

1} an allowance of 24%: of job lime;
(II}  an aHowance of 22% of a work day.

i) Outline two limitations of time study technique in production. (12 marks)

8. (a)  With the aid diagrams, explain the following:
(1} moverment along the demand curve; -
ity  shift m the demand curve. A marks)
(b) Explain three differences between LIFQ and FIFO in relation to the value of
material in stock. (6 marks)
(c) Explain fonr methods that may be ueed 10 resolve an industrial dispute in an

DEgANiZation. {& marks)
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